Name SP222 Quiz

The 3.0pF capacitor in the circuit below is connected to the 20.0 V battery. It is at equilibrium

and is fully charged. The capacitor is a parallel plate type, with air separating the plates by 0.10
mm.

What is the potential across the capacitor?
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What is the area of the plates?
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How much charge is stored on one plate of the capacitor?
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How much energy is stored in the capacitor?
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What is the energy density in the capacitor?
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The capacitor is disconnected from the battery and discharged. A 0.10 mm dielectric (mlca) with = 1777 2 g}

a dielectric constant of 7.0 is placed between the parallel plates of the capacitor above. What js _ W
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The capacitor with the mica is reconnected to the battery. What is the charge stored in the = [; s‘&
capacitor when the system returns to equilibrium?

How much energy is stored in the new capacitor?
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Extra Credit: (1 point) Bancroft Hall used to have a bowling alley. Where was it?
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